[ =]

[eacher.co.ke

Kenya Certificate of Secondmyﬁ:'culion (K.C.SE)

momAUHf‘Bl@’r gl e %

12112
MATHEMATICS
PAPER 2-
1 No log
p : -
0.5249 1.7200 M,
X2
1.4400
83.58 1.9221 + M
1.3621
- 3 2.5518
1.0.3563 1.5518 =§-+ . M
3
1.8505
10' x 3.247 wepttic | 5175 A,
=325
04
2 |2 4x* H-K M
, =,
i o4 3y
e 4x*H — 4o’
n2 Lol e R
3yg’
nz3>yg2=4x2H—K)(2
r123yg2 +4kx*=4x"H
4ex? _4)62H-—31123yg2 M,
4x’ = 4x? A
K = 4x2H—31212-3yg2
4x
3 7 casto+1=0
Cos2 6 =-0.5
—26=120°, 240% 480% 600"
6 =60% 120°, 240°

For free KCSE Notes, Exams, and Past Papers Visit https://Teicher.co.ke/notes/

All logs¥

v addition and
subtraction

vdivision by | 7
£

CAO

simplification

v/ grouping

For all
For all




oo oo

¢ TAEm - - — et Y
7f ){}Tc_lnc B, <
B g
03 X
7 i@ B
4— =466667
15 ; .
Actual = 4T67 ' \
Truncation = 4-666 o ’\,i;; g
Emror =4.667—4 666 YT~ He i [’; L =~ D¢l M, v" Expression
=0.001 ' for error
OOOI 2 " e~ BN g 0 A P = 3 F ae
0 % Brror = — x 100 P: DV XWO _ e p OC 234 éﬁ(ﬁzu
. 4%667 ] =0 03B,
S =0.02143% el
3 b\[
3 C.A.O s
03
4OX3+GQ,\”l:12O+6O_45/ "
4 AT M, |ALT,
45\\\ ///w
47 . M]
3 /
\2
= AI = i .
=3:2 : ' Let the ratio  .}o. -
bel:n e
45x1 + 50xn —47
1+n
S0n—47n=47—45
n=2
/7:23
I:%
=32
03
5
AN
AB = y5n-3?
=4 B,

P

For free KCSE Notes, Exams, and Past Papers Visit https:/»ﬁl’ eacher.co.ke/notes/




[/

// Length = 4x2
/ = Sem B, '
02
7 AB=A0+ OB
= (2i— j +8k) (- 3i + 2j - 2k)
=-i+j+6k B
M, v’ Attempt to
b 2 find
(48) =1 + () + (67 s
= /38 A
1
=6.164
i 03
T [s
2 D ’
V3
2’ >
1 -1 .
e S N : =
e . km Com B B v’ substitution
3 i of trig ratio
1 Pos Ay = L
i RN 2
%
] Q\/—b’— + 1) M, e
= x v Attemptto |=e -’
v3-1) [v3+1) Ty el Lol
M, rationalize e
3 243-1 denomination
12 -1
_ —2J3-1 &
1 1 '
4l 03
Total monthly installment = 3200x12
= 38400 B,
i 2I*"rincipal = 30000 - 10000 M, For both
= 20000 Z 3'4 = ¥" Expression
38400 = 20000 (1+——)'2 {4 &
100
Log 1.92 =12 log (1+ — ¥
100’ |
)
1.059 = ]+I€_ Wl
0 !
-=5.99 A, simplification
C.A.O
04
10a | (J3%) =1-12x +54x2— 108 x°
M,; | ¥ Expression

For free KCSE Notes, Exams, and Past Papers Visit https://Teacher.co.ke/notes/

[T =y
Teacher.co.ke



— \‘
1 2 )
X .4 = A4 3 2 N
R~ Rl LPRR. TN L4 0 )
e 3 g d) i [ identifiCation
R =-107x 9~ of co-efficient
']’ a — 1_ _ of x> and
-108 + —a=-107 s T Ay equation
2 ey
a=2, @ ¥ %
b) 2%+ 2(2%) x +24(22)x2+%(2)x3 QL* 9 e e ,_XLF 3(, fr ﬁ |
=16+16x +96x"+ x° Ie+\%7+ “Lartxd |
04
11 Det =0
x(x +1)-2=0 M,
| OE ¥ +x-2=0
OH (x+1)(x-2)=0 A
DE =1 or{ Ay Eoth values
m)e 12 % s 05 0.5 15 B, Tor ali values
Y 175375 (375 [175 .
Area = 1(1.75 + 3.75+3.75+1.75) M,
= 11sq.units Ay
>’7’ - N i 03
}_13 Loga=-0.35 C/Z/q ~ (:Sﬁq’)
a=0.45 B1
- , M, Expression of
- — ') ad
ol Cerkre (ol : .,
Z R (e
b=1.4% (Accept 1.5) A ' -
— AT &JA\"TS vk L)( ,,L C —)/> ,’-q_’ Forb
n T=4
0.45 x 1.496* m uM&S B,
=2.254 (Accept 2.278) | Form
04
14
1cm rep Im
b \§ c
o s B] 4 arc
: ’ Sem constructed
5 B
\\\\ Bisecting<BA
. A\ 8 ; L
cm
Shading the
region
04

Forfree KCSE Notes, Exams, and Past Papers Visit https: //T}aacher co.ke/notes/

e

2




[eacher.co.ke

.
J
§ o BT SN
.
= L 3 AL LD'
r.
/JZL ! % D—~—--—L'p
uH
ER e L'n’

b) P(LD' or L'D)
- p(LD")+P(L'D)

a,a+ 3d, g+9d
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SECTION 11
a) Gross tax = Net tax + Deductions (reliefs)
= 2336+ 1056 /
= Shs. 3392
b) Gross tax p.a=339x 12 !
= 40,704/=
Income p.? Tax rgfe Tax
121,968\ 10% 12196.80
114,912 % 17236.80
56,352 1127040
293,232 ' sahd. 40704.00
—%QX =112 7(/40
100
X =11270. £
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=56,35%/=
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Taxable income = 293,232/=p.a =293 2327= p.a M
= 24,436/ p.m. Addition of
Ay incomes %
I3, '
C). AHO\!V'CU']C@ = ‘166)( 24,4 =3635.40 M, v taxable
Monthly basic salary s4axable — Allowance income p.m - income p.m
=24436 —3635. 40
= Shs. 20,800.60
10
._ .
a). Cos 30 =——
MX
5 M,
mx =
cos30 Ay
=5.774
b) 360° - 30° My
=930’ : A,
MY M,
c) cos 30° = S :
1 0 : M,
my =10 cos 30 ‘
=10 x 0.8660 A
=8.66m | ’
d) By cosine rule iy
x?710%+20% - 2 x 200cos 30°
= 500 — 400cos 30° T3 ..
= 500 — 346. 41 :
=153.59 A
x =12.39 :
X
P
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300
M
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19. The height of a number of orange trees in an orchard were measured to the nearest (cm) and
recorded in the table below.

Height (cm) Frequency 1 ¢ ‘A’

131-140. 13 13

141 - 150 23 3 4

151 -160 36 12

161 -170 50 ")

171 - 180 35 e

181 - 190 28 i

191 - 200 15 ak

Using an assumed mean of 165.5, calculate
a) Th n height 3mks
o | 2R 5 )‘( 5)3”
¥ < A

¢) The quartile deviation ’ L' ?) 7 (3mks)
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20. The points A (5,-1) B (1,-2) and C (x,y) of a triangle are mapped onto A' (1,5)B'(2,1) and

C' (4.2) by a matrix N =(* b) Find

a) Matrix N of the transformation. : Do —=2bz=2 4mks) |
o o —3b=2 "|)pc-24 70
C £ ] 9a =0© -7l
g =P Gc =1
So b - se-d-s b = wi C =

b) Co-ordinates of C

“b-] A R | N~ D =
<j - M :"%’ 1 )
)

c (%

¢) A" B’ C are the image of A'B'C' under a transformation represented by matrix

M=(O ’01 :

Write down the co-ordinates of A'B'C (2mks)

AR . e 2 A" (‘3 o)
OO0 |51 "’[O o ° B Czlf))
¢" (&°)

d) A transformation N followed by M can be represented by a single transformatlon K.
Determine K (2mks)

M N
ONC
D )10 o &
\ |
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21. A ship left port A (11°N, 32° W) and sailed due west to another port B. The journey took
160 hours at an average speed of 28 knots. Given that radius of the earth is 6370km and

7t—22/7

a) Calculate the distance between A an/d B
i) In nautical miles b = S X |

02X 16D = %%9%””
|

i

ii) In km

i :

b) Calculate the average speed of the ship in km/h correct to 2d.p (2mks)

g//ﬁ f_g@_’._&/j /g/ gglw{
6 b

¢) Calculate to the nearest whole number the longitude of port B and hence state its position

e @ox(hﬂt#ﬁ\

48P =
- 448
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22,

The right pyramid above (not drawn to scale) has AB = 12 cm and BC = 16 cm. O is the

centre of the base with OV = 15 cm.
Calculate, giving your answer to four significant figures.
a) The length of the slant edge

AC — ml . 228
= Xocm’ . l%'bgtm

AV = mi'

b) The angle between the lines VA and VC

/law\@ - LQ_.::O*éGC'?‘
| S

& = Jail 06661

= D286

¢) The angle between the plane ABV and the base ABCD

s Bl T g

VX =]y goa -6 @::caj/ﬂgﬂc
= 11,00 : | *
- ) 1’@6

C@SEF:LS’~ B = 2
e ’ 6143’

(2mks)

(2mks)

(3mks)

12

d) The pyramid is chopped at point T to form a frustum such T divides OV in the ration 2:1.

Find the volume of the frustum.
< "?;x 16 X1 =960 »®

&6 g\g/.('grmi

4
3
L= L vy 2 ys” =
/}L b AL
‘ . L6
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23. The figure below shows the sketch of the curve y = x?-2x + 4and a straight line PQ which
cuts the x-axis and the y-axis at the points (10, 0) (0, 10) respectively.

The line also intersects the curve at P and Q
AY

-

v

X
Find.
a i.) The equation of the straight line in the formy =m x +c¢
Vg o, | R T -
=bf e * -0
MX©
(?=|o—“0 J,\O: ~ et
e % “pken A
G- md N\\ g 8 \
ii.) The co-ordinates of P and Q
e
e i ek 1 4 s X
x4 LD guer =71 -gq
Y= pad = -6 -2

~2C $10 = yR—aX ¢ M,
Y2 -2k +x & <O
C 3 ¥\ =
Yo-X +éi= 0 X;—*Q P(\

B Use mtegratlon to find the area of the shaded part.

j( X 419) dox

2 5
["_’; 40X
Q-

-2

<—gj_‘ gOX» [Z;E -QOl M\

My

y24ar ~3K-6 =70

x(iﬂ) ~foc D) =°

(2mks)

(4mks)

Area  wndoed t\ COIVE
f@é‘&x ) dx
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(ﬂ q4R) - [/3 ;’8']

or f é(CSE \ ams, al d Past Fape s Visit ttps// eacner.co. Pe teS leac“el CO ke

- 435 SWrz Unis

LHI -6 7, =

13=9=§3>0l S‘;an m«s



i

| i

o

i

i

)

b

1V

S

e

%

Y-

~

Ves |
s

R A

/I\I/

/

Al

X

«’

T

=S

——i

%

el i






